Department for Environment, Food and Rural Affairs

Sustainable Development Impact Test

	Stage 1

	1.
Environmental Standards

	1a. Are there are any significant environmental impacts of your policy proposal (see Wider Environment Specific Impact Test)?

	Yes


No



	If the answer is ‘yes’ make a brief note of the impacts below:

	

	

	1b. If you answered ‘yes’ to 1a., are the significant environmental impacts relevant to any of the legal and regulatory standards identified?

	Yes


No


	If the answer is ‘yes’ make a brief note of the relevant standards below:

	

	

	If you answered ‘yes’ to 1b,  have you:

	1c. Notified the Government Department which has legal responsibility for the threshold and confirmed with them how to include the impacts appropriately in the analysis of costs and benefits?

	

	1d. Informed ministers where necessary?

	

	1e. Agreed mitigating or compensatory actions where appropriate?

	

	2.
Intergenerational impacts

	2a. Have you assessed the distribution over time of the key monetised and non-monetised costs and benefits of your proposal? This assessment can be included in your Evidence Base or put in an annex.

	Yes


No


	

	

	2b. Have you identified any significant impacts which may disproportionately fall on future generations? If so, describe them briefly.

	Yes


No


	

	

	If you answered ‘yes’ to 2b. , have you:

	2c. Informed ministers where necessary? If so, provide details.

	

	2d. Agreed mitigating or compensatory actions where appropriate? Provide details.

	


	Stage 2

3. The purpose of the second stage is to bring together the results from the impact assessment with those from the first stage of the SD test. The following questions are intended to reflect the uncertainties in the cost benefit analysis and help you consider how to proceed in the light of further evidence from the first stage of the SD test.

	3a. Indicate in the appropriate box whether the balance of monetised costs and benefits is:

	Strongly positive
	Moderately positive
	Roughly neutral / finely balanced
	Moderately negative
	Strongly negative

	
	
	
	
	

	

	3b. Indicate in the appropriate box whether the balance of non-monetised costs and benefits is likely to be:

	Strongly positive
	Moderately positive
	Roughly neutral / finely balanced
	Moderately negative
	Strongly negative

	
	
	
	
	

	

	3c. Indicate in the appropriate box whether the results of the SD questions 1-3 are, on balance, likely to be:

	Strongly positive
	Moderately positive
	Roughly neutral / finely balanced
	Moderately negative
	Strongly negative

	
	
	
	
	

	

	3d. Indicate in the appropriate box whether, overall, the balance of the monetised and non-monetised costs and benefits and the sustainability issues is considered to be:

	Strongly positive
	Moderately positive
	Roughly neutral / finely balanced
	Moderately negative
	Strongly negative

	
	
	
	
	

	

	3e. Provide an explanation of the final result from 3d, explaining, for example, how you have compared monetised and non-monetised costs and benefits and how you have resolved any conflicts between the cost-benefit results and the SD results.
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